Inductancia mutua




Transformacion fasorial de inductores
acoplados

V, = jwL,, + joMI,

V, = jwL,I, + joMI,



The input to the circuit shown in Figure 11.9-6a is the voltage of the voltage source,

vs(t) = 5.94 cos (3t + 140°) V

The output 1s the voltage across the right-hand coil, v,(7). Determine the output voltage v(1).
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FIGURE 11.9-6 The circuit considered in Example 11.9-2 represented (a) in the time domain and (/) in the frequency domain.
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V(o) = 5.94 /140° V
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Por mallas con las fuentes dependientes
Ve —j6l —j6l = (5 + j12 + j15)I

- Vs ~ 5.94£140°
- 5+j12+j15+j6 +j6 5+ 39

V. = j151 — (—j6l) = j21I

v,(t) = 3.17 cos(3t + 147°) V
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Usando el transformador para
Impedance matching
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Example 3.8 For the ideal transformer circuit of Fig. 13.37, find: (a) the source cur-
rent I,, (b) the output voltage V,, and (c) the complex power supplied
> by the source.
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For Example 13.8.
MW—| I, = —=(11.09233.69°) = —5.55233.69° A
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